

Environmental Profile

This LCA is calculated according to: ISO 14044, ISO 14040 and EN 15804

Ecochain v4.3.1



Product: Holcim Xstone poreus fijn
Unit: 1 m3
Manufacturer: Holcim Coastal Alphen a/d Rijn

Holcim Xstone door-en-door poreus met fijne gradatie, per 1m3 geïnstalleerde constructie, soortelijk gewicht 2.3, blokformaat schaalbaar van 200 t/m 600mm (in stappen van 100mm), over de levensduur van 100 jaar. Resultaat berekening o.b.v. blokformaat 300mm. Toepassing in GWW.

LCA standard: NMD Bepalingsmethode 1.2 (2025) (obv Ecoinvent 3.6)
Standard database: Dutch - Nationale Milieudatabase v3.8 (obv Ecoinvent 3.6)
Externally verified: Yes
Issue date: 07-03-2025
End of validity: 07-03-2030
Verifier: Tim Mol



“De methodologie en dataverzameling zoals beschreven in het onderliggende LCA rapport voldoet aan de eisen van de “Bepalingsmethode Milieuprestatie Bouwwerken” versie 1.2 van december 2024 en de onderliggende normen ISO 14040, ISO 14044 en NEN-EN 15804.”

The LCA background information and project dossier have been registered in the online Ecochain application in the account Holcim Coastal Alphen a/d Rijn (2023). (☑ = module declared, MND = module not declared).

A1	A2	A3	A4	A5	B1	B2	B3	B4	B5	B6	B7	C1	C2	C3	C4	D
☑	☑	☑	☑	☑	MND	MND	MND	MND	MND	MND	MND	☑	☑	☑	☑	☑

Product stage			Use stage						End-of-Life stage		
A1 Raw material supply	A2 Transport	A3 Manufacturing	B1 Use	B2 Maintenance	B3 Repair	B4 Replacement	B5 Refurbishment	B6 Operational energy use	C1 De-construction demolition	C2 Transport	C3 Waste processing
Construction process stage			B7 Operational water use						C4 Disposal		
									Benefits and loads beyond the system boundaries		
A4 Transport gate to site			A5 Assembly / Construction installation process						D Reuse- Recovery- Recycling- potential		

Environmental impacts and parameters

MKI A1 = Environmental Costs Indicator (MKI A1) [euro]; **ADPE** = Abiotic depletion potential for non-fossil resources [kg Sb-eq]; **ADPF** = Abiotic depletion potential for fossil resources [kg Sb-eq]; **GWP** = Global warming potential [kg CO2-eq]; **ODP** = Depletion potential of the stratospheric ozone layer [kg CFC-11-eq]; **POCP** = Formation potential of tropospheric ozone photochemical oxidants [kg ethene-eq]; **AP** = Acidification potential of land and water [kg SO2-eq]; **EP** = Eutrophication potential [kg P04 3--eq]; **HTP** = Human toxicity potential [kg 1,4-DB-eq]; **FAETP** = Freshwater aquatic ecotoxicity potential [kg 1,4-DB-eq]; **MAETP** = Marine aquatic ecotoxicity potential [kg 1,4-DB-eq]; **TETP** = Terrestrial ecotoxicity potential [kg 1,4-DB-eq]; **MKI A2 (obv EF 3.0)** = Environmental Costs Indicator (MKI A2 obv EF 3.0) [euro]; **GWP-total** = EF Climate change [kg CO2 eq]; **GWP-f** = EF Climate change - Fossil [kg CO2 eq]; **GWP-b** = EF Climate change - Biogenic [kg CO2 eq]; **GWP-luluc** = EF Climate change - Land use and LU change [kg CO2 eq]; **ODP** = EF Ozone depletion [kg CFC11 eq]; **AP** = EF Acidification [mol H+ eq]; **EP-fw** = EF Eutrophication, freshwater [kg P eq]; **EP-m** = EF Eutrophication, marine [kg N eq]; **EP-T** = EF Eutrophication, terrestrial [mol N eq]; **POCP** = EF Photochemical ozone formation [kg NMVOC eq]; **ADP-mm** = EF Resource use, minerals and metals [kg Sb eq]; **ADP-f** = EF Resource use, fossiils [MJ]; **WDP** = EF Water use [m3 depriv.]; **PM** = EF Particulate matter [disease inc.]; **IR** = EF Ionising radiation [kBq U-235 eq]; **ETP-fw** = EF Ecotoxicity, freshwater [CTUe]; **HTP-c** = EF Human toxicity, cancer [CTUh]; **HTP-nc** = EF Human toxicity, non-cancer [CTUh]; **SQP** = EF Land use [Pt]; **PERE** = Use of renewable primary energy excluding renewable primary energy resources used as raw materials [MJ]; **PERM** = Use of renewable primary energy resources used as raw materials [MJ]; **PERT** = Total use of renewable primary energy resources [MJ]; **PENRE** = Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials [MJ]; **PENRM** = Use of non-renewable primary energy resources used as raw materials [MJ]; **PENRT** = Total use of non-renewable primary energy resources [MJ]; **SM** = Use of secondary material [kg]; **RSF** = Use of renewable secondary fuels [MJ]; **NRSF** = Use of non-renewable secondary fuels [MJ]; **FW** = Use of net fresh water [m3]; **HWD** = Hazardous waste disposed [kg]; **NHWD** = Non-hazardous waste disposed [kg]; **RWD** = Radioactive waste disposed [kg]; **CRU** = Components for re-use [kg]; **MFR** = Materials for recycling [kg]; **MER** = Materials for energy recovery [kg]; **EET** = Exported energy thermic [MJ]; **EEE** = Exported energy electric [MJ]

Statement of Confidentiality

This document and supporting material contain confidential and proprietary business information of Holcim Coastal Alphen a/d Rijn. These materials may be printed or (photo) copied or otherwise used only with the written consent of Holcim Coastal Alphen a/d Rijn.

Results

Environmental impact SBK set 1	Unit	A1	A2	A3	A1-A3	A4	A5	C1	C2	C3	C4	D	Total
MKI A1	euro	6.134696	0.238646	0.26177	6.635112	0.725347	0.394287	0.050029	0.363939	0.140587	0.006239	-0.44857	7.86697
ADPE	kg Sb-eq	4.047742E-4	1.573466E-5	1.561571E-5	4.361245E-4	4.782430E-5	2.743609E-5	5.787345E-7	6.520361E-5	3.884778E-6	4.120671E-7	-1.770283E-4	4.044359E-4
ADPF	kg Sb-eq	2.923554E-1	1.231199E-2	2.725707E-2	3.319245E-1	3.742135E-2	2.297034E-2	2.463305E-3	2.825144E-2	9.630944E-3	6.019045E-4	-2.369768E-2	4.095661E-1
GWP	kg CO2-eq	6.594022E+1	2.000883E+0	3.175407E+0	7.111651E+1	6.081530E+0	4.007822E+0	3.734702E-1	3.795146E+0	1.361456E+0	4.419186E-2	-3.503673E+0	8.327645E+1
ODP	kg CFC-11-eq	3.678479E-6	2.865791E-7	4.438953E-7	4.408953E-6	8.710353E-7	2.963773E-7	6.466260E-8	7.189691E-7	1.490281E-7	1.471865E-8	-3.027400E-7	6.221004E-6
POCP	kg ethene-eq	3.641336E-2	1.176233E-3	1.194754E-3	3.878435E-2	3.575070E-3	2.189722E-3	3.802316E-4	2.371870E-3	7.772844E-4	4.707303E-5	-2.582288E-3	4.554331E-2
AP	kg SO2-eq	1.840012E-1	1.432597E-2	7.469516E-3	2.057967E-1	4.354269E-2	1.343469E-2	2.814470E-3	1.401799E-2	6.292971E-3	3.231747E-4	-1.976972E-2	2.664530E-1
EP	kg PO43--eq	2.859405E-2	3.208963E-3	1.371733E-3	3.317474E-2	9.753400E-3	2.284246E-3	6.397825E-4	2.717835E-3	1.402197E-3	6.233992E-5	-3.214119E-3	4.682042E-2
HTP	kg 1,4-DB-eq	1.805744E+1	4.859560E-1	5.328386E-1	1.907623E+1	1.477026E+0	1.144338E+0	1.382524E-1	8.198543E-1	3.235018E-1	1.997435E-2	-1.608652E+0	2.139053E+1
FAETP	kg 1,4-DB-eq	2.296080E-1	1.213929E-2	1.340143E-2	2.551487E-1	3.689643E-2	2.151245E-2	1.924429E-3	3.447234E-2	5.579074E-3	4.740377E-4	-2.492154E-2	3.310859E-1
MAETP	kg 1,4-DB-eq	8.750294E+2	3.840855E+1	4.724492E+1	9.606828E+2	1.167399E+2	7.609192E+1	6.691643E+0	9.256027E+1	2.101359E+1	1.694802E+0	-1.035869E+2	1.171888E+3
TETP	kg 1,4-DB-eq	8.323729E-2	2.380193E-3	1.546566E-2	1.010831E-1	7.234415E-3	4.762811E-3	2.275847E-4	4.607351E-3	3.972805E-3	5.016779E-5	-8.359896E-3	1.135784E-1
Environmental impact	Unit	A1	A2	A3	A1-A3	A4	A5	C1	C2	C3	C4	D	Total
MKI A2 (obv EF 3.0)	euro	12.616684	0.383536	0.685609	13.685829	1.165727	0.37151	0.125628	0.734306	0.319545	0.013231	-1.068838	15.346939
GWP-total	kg CO2eq	6.720298E+1	2.022810E+0	3.242562E+0	7.246835E+1	6.148176E+0	2.349729E+0	3.774504E-1	3.830223E+0	1.379455E+0	4.506278E-2	-3.599843E+0	8.299860E+1
GWP-f	kg CO2eq	6.714004E+1	2.017615E+0	3.241797E+0	7.239945E+1	6.132387E+0	4.075274E+0	3.773573E-1	3.828047E+0	1.377175E+0	4.502390E-2	-3.587270E+0	8.464745E+1
GWP-b	kg CO2eq	4.387112E-2	1.427321E-3	5.559848E-4	4.585443E-2	4.338233E-3	3.097172E-3	6.330436E-5	1.222322E-3	2.018012E-3	2.632486E-5	-8.401633E-3	4.821817E-2
GWP-luluc	kg CO2eq	1.906490E-2	3.767601E-3	2.084857E-4	2.304098E-2	1.145134E-2	1.072676E-3	2.974099E-5	9.536985E-4	2.620579E-4	1.255160E-5	-3.817082E-3	3.300596E-2
ODP	kg CFC11eq	3.978546E-6	3.557868E-7	5.170316E-7	4.851364E-6	1.081387E-6	3.431673E-7	8.149394E-8	9.036685E-7	1.786001E-7	1.854214E-8	-3.548068E-7	7.103416E-6
AP	mol H+eq	2.983194E-1	2.001048E-2	1.001621E-2	3.283461E-1	6.082033E-2	1.939393E-2	3.946903E-3	1.841628E-2	8.644154E-3	4.274554E-4	-2.575742E-2	4.142378E-1

NHWD	kg	6.832352E+0	1.205827E-1	1.247238E-2	6.965407E+0	3.665020E-1	8.329788E-1	6.149230E-3	5.207745E+0	2.577863E+0	8.548089E+0	-4.804402E-1	2.402429E+1
RWD	kg	2.026120E-3	1.654416E-4	5.998100E-5	2.251542E-3	5.028471E-4	1.523520E-4	3.606301E-5	4.047153E-4	8.306360E-5	8.266861E-6	-1.939491E-4	3.244901E-3
CRU	kg	0	0	0	0	0	0	0	0	0	0	0	0
MFR	kg	0	0	0	0	0	0	0	0	0	0	0	0
MER	kg	0	0	0	0	0	0	0	0	0	0	0	0
EET	MJ	0	0	0	0	0	0	0	0	0	0	0	0
EEE	MJ	0	0	0	0	0	0	0	0	0	0	0	0



Ecochain Technologies BV
H.J.E. Wenckebachweg 123, 1096 AM Amsterdam, The Netherlands
<https://www.ecochain.com>
+31 20 3035 777